

HOUSE IN THE MIDDLE OF NOWHERE

No money. No plan. No way out. In the debut film from **NO BUDGET BLOCKBUSTER**, five friends are trapped in a remote house—where the real horror isn't outside... it's how unprepared they are.

SYNOPSIS

When five friends take a wrong turn on a desolate highway, their weekend road trip turns into a nightmare. Stranded in the middle of nowhere, they stumble upon an isolated farmhouse—its lights flickering, its doors unlocked, and its secrets waiting to be discovered.

What begins as a search for help quickly descends into chaos as the group realizes they're being hunted by a deranged cult known as **The House of Black**—a sinister order devoted to feeding their dark god through ritual sacrifice. Trapped and cut off from the world, the friends must face not only the horrors lurking in the shadows, but also their own unraveling trust and fear.

With no signal, no escape, and the line between the living and the damned growing thinner by the hour, survival becomes a test of loyalty, courage, and pure madness.

HOUSE IN THE MIDDLE OF NOWHERE is a gripping descent into terror—and the debut feature film from the team behind the documentary series **NO BUDGET BLOCKBUSTER**, proving that sometimes the scariest monsters are the ones you create yourself.





HOUSE IN THE MIDDLE OF NOWHERE

LINE BUDGET

THE HOUSE IN THE MIDDLE OF NOWHERE

DATE: APRIL 1, 2026
LOCATION: INLAND EMPIRE
PRODUCTION COMPANY: FILM-A-MITE INC.
PRE-PRODUCTION: 30 DAYS
PRODUCTION: 14 DAYS
POST PRODUCTION: 90 DAYS
PRODUCED BY DAVE UCHANSKY & RYAN MCGONAGLE
DIRECTED BY: RYAN MCGONAGLE
WRITTEN BY: RYAN MCGONAGLE

1	PRODUCER'S UNIT	RATE	 DAYS		
1.1	Producer	\$252	14	\$3,528	
1.2	Associate Producer	\$252	14	\$3,528	
1.3	Line Producer / Production Manager	\$252	14	\$3,528	
1.4	Assistant Producer	\$252	14	\$3,528	
1.5	Assistant Producer	\$252	14	\$3,528	
					\$17,640

2	DIRECTOR'S UNIT	RATE	 DAYS		
2.1	Director	\$252	14	\$3,528	
2.2	First Assistant Director	\$252	14	\$3,528	
2.3	Second Assistant Director	\$252	14	\$3,528	
					\$10,584

3	SCRIPT DEPARTMENT	RATE	 DAYS		
3.1	Writer	Flat		\$2,000	
3.2	Script Supervisor	\$252	14	\$3,528	
					\$5,528

4	CAMERA DEPARTMENT				
4.1	Cinematographer	\$252	14	\$3,528	
4.2	1st. AC	\$252	14	\$3,528	

4.3	2nd. AC	\$252	14	\$3,528	
4.4	Camera Equipment	Flat		\$5,000	
					\$15,584

5	SOUND				
5.1	Sound Guy	\$252	14	\$3,528	
5.2	Sound Equipment Rental	Flat		\$5,000	
					\$8,528

6	ELECTRICAL / LIGHTING				
6.1	Key Grip	\$252	14	\$3,528	
6.2	2nd Key Grip	\$252	14	\$3,528	
6.3	Best Boy	\$252	14	\$3,528	
6.4	Rentals	Flat		\$5,000	
					\$15,584

7	SFX / MAKE UP / HAIR				
7.1	Ojala Studios	Flat		\$25,000	
7.2	SFX Make Up	\$252	14	\$3,528	
7.3	Make Up / Hair	\$252	14	\$3,528	
7.4	Kit	\$1,000	Flat	\$1,000	
					\$33,056

8	WARDROBE DESIGNER				
8.1	Wardrobe Designer	\$252	14	\$3,528	
8.2	Wardrobe	Flat		\$2,225	
					\$5,753

9	ART DEPARTMENT				
9.1	Production Designer	\$252	14	\$3,528	
9.2	Art Director	\$252	14	\$3,528	
9.3	Art Director Assistant	\$252	14	\$3,528	
9.4	Set Dresser	\$252	14	\$3,528	
9.5	Set Builder	\$252	14	\$3,528	
9.6	Rentals	Flat		\$4,000	
9.7	Materials	Flat		\$3,000	
9.8	Props	Flat		\$4,000	
					\$28,640

10	LOCATION DEPARTMENT				
10.1	Locations	Flat		\$7,000	
10.2	Permits	Flat		\$2,000	
					\$9,000

11	FOOD				
11.1	Craft Service	\$150	14	\$2,100	
11.2	Meals	\$150	14	\$2,100	
11.3	Miscellaneous	Flat		\$1,000	
					\$4,200

12	TALENT				
12.1	Jenny	\$310	12	\$3,720	
12.2	Sam	\$310	7	\$2,170	
12.3	Dylan	\$310	10	\$3,100	
12.4	Adam	\$310	7	\$2,170	
12.5	Isabel	\$310	7	\$2,170	

12.6	Ty	\$310	7	\$2,170	
12.7	Lacey	\$310	5	\$1,550	
12.8	Bartender Bob	\$310	2	\$620	
12.9	Zelda	\$310	2	\$620	
12.1	Harley	\$310	2	\$620	
12.11	Pandora	\$310	8	\$2,480	
12.12	Moondawg	\$310	8	\$2,480	
12.13	Birch	\$310	6	\$1,860	
12.14	Reverend Black	\$310	2	\$620	
12.15	Louie	\$310	1	\$310	
					\$26,660

13 POST PRODUCTION					
13.1	Editor	Flat		\$4,000	
13.2	Color Correction	Flat		\$2,000	
13.3	Titles	Flat		\$500	
13.4	Closed Captioning	Flat		\$500	
13.5	Sound Mix	Flat		\$2,000	
13.6	Sound Design	Flat		\$1,000	
13.7	Foley	Flat		\$1,000	
13.8	Music	Flat		\$4,000	
13.9	ADR	Flat		\$2,000	
13.10	VFX	NONE		\$0	
13.11	Hard Drives	Flat		\$1,000	
13.12	Deliverables	Flat		\$1,000	
					\$19,000.00

TOTAL **\$199,757.00**